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méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

P, Q and R can complete a work in 30 days, 15 days and 20 days respectively.

P works on first day, then Q works on second day and then R works on third day
and so on. In how many days the work will be Completed?

P, Q 3R R U B @l hHRT: 30 &I, 15 f&1 3iR 20 faAl H QIR qdhd g1 P
qgd fa- PR Bl o, (R Q g fad DRI Bl & 3R fhr R AR f&4 DRl Sl
¢ SR el H 3 Wi SRl gl 81w faba fot # grr g

a) ) days
b) days
C) ' days

d) ) days
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If length, breadth and height of a cuboid increases by 10%, 20% and 15%

respectively, then what will be the percentage change in its volume?

gf Udh 94T @1 ddls, dIsTs 3R Fdls A 10%, 20% AR 15% d¢ STl o, dl
=Td 3 | Ufderd afadT o1 gime

a) 7.4%
b) 5%
C) 1.8%

d) 1.2%
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If the average of five consecutive odd numbers is 17, then what will be the
highest number among them?

gf 919 pHNTd [AuH SBT3 BT {™d 17 §, dl 340 I Ja dof IBAT 1 gRIT?

a) |
b) >
c) °

d) 35




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

The length of a rectangle is 24 cm. If the length of diagonal is 26 cm, then what
will be the breadth of the rectangle?

U A DI Adls 24 JHI g | TG B0l B dals 26 JH! ©, Al 3MAd D dISTs H1
gHll?

a) > cm
b) Lcm
C) ) cm

d) ) Cm
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If two successive discounts of 25% and 20% respectively are given, then what
will be the net discount percentage?

gfc hHT: 25% 3R 20% B! &l hitid Fe ol Sl g, dl Do ¥ UfdId =1 g2

a) 1.9%
b) )%
C) )%

d) 1%
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The mixture of 18 liters has acid and water in the ratio of 5 : 1. When X liters of
water is added to the mixture, the ratio of acid and water becomes 3 : 1. What is
the value of x?

18 TIex & MAUT H o] SR U 5: 1 & 3-IUTd H g | 5d x @lex il ol (o §
eI Sirdl @, ol 3% 3R YT &l 3UT1d 3 : 1 51 SIdl g | x &l 09 &A1 52

a)
b)
C)
d)
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Four bulbs light up at the interval of 2, 3, 4 and 5 minutes respectively at some
moment. They are lit up together at 8:00 pm. At what time will all bulbs light up
together?

IR ded $© UG & (1T .
Sield © 1 d Xd 8:00 &0l Udh 1Y
dcd T 1Y SIcii|?

& 4 -3 =[] UR
| 3T IR [T 7Y U g4t

e
Cow w a) jht 8:45
é]%'l. 4,5 @ b) onto:4s
C) apts30

Lnte.
|
Lol @ Jht 9:00
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The ratio of length of two trains is 6 : 5 and the ratio of their speed is 3 : 2 The
ratio of time taken by them to cross a pole is:

Gl ¢HI Bl Tdlg DI U 6 : 5§ IR 3D 1l DT 3UId 3 : 2 5, U Uld Bl UR
D I I GRT U U 97y &I 3UTd

a) °°
b) 5
c) s

d) . 8
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The driver of a mini bus driving at 82 km/hr locates a motor bike 150 m ahead of
him. After 20 seconds, the motor bike was 100 m behind the bus. The speed (in
km/hr) of the motor bike is:

82 fdhHl/deT @I Tid ¥ 9 el U [FHI 99 &7 d1e@ ${u- 150 HIeR 311 9d el

Uh HICY dlgh Dl &ddl gl 20 b b dlg, HICR dlgd d9 & 100 HIcR Ul 4f|

HicX digc &I T1id (fb Al H) B ) |
d

b)
c)
d)
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Neeraj covers two distances of 10 km and 20 km in 1 hour and 5 hours
respectively. What will be the average speed of Neeraj for the whole journey?
RS 10 Tt iR 20 fobHl @t &1 GRAT HHRE: 1 6 3R 5 6 H a0 HRdl o | Jyul
AT & Q1T 4IRSl B 3Id =1l 1 g2

a) Km/hour
b) Kkm/hour
C) km/hour

d) Km/hour
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A man can row downstream a distance of 9 km in 2 hours and takes 6 hours
while returning to the starting point. What is the speed (in km/h) of the stream?

U SfTeHt 2 9 H 9 fohril Bl ot 4IRT S SR o Wabdll & SfR YR ofTelt fog |
dled H 6 9¢ ddl g | URT & (fhHi/eer /) 7ifd =11 g2

a)
b) 5
c)
d)
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Surbhi can do a piece of work in 24 days. She completed 3/8 of the work and
then left it. Amit can complete the remaining work in 10 days. Working together,
they will complete 125% of the same work in:

AR U B Bl 24 &A1 T DR Fabdl o1 3G 3/8 HIH WX fhdT 3R [h 3 8IS

[T =Y D1 DI T 10 Gl H U1 HR Adl g U 1Y HH H WR, 9 AT HH
DT 125% T R hA]
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The ratio of ages of A and B, 4 years ago, was 5 : 7. The ratio of their ages after

4 years from now will be 7 : 9. What will be the ratio of ages of A and B after 12
years from now?

4 9 Ugd-AR B Pl @ﬂ&ﬁﬁﬂraﬁmlddﬁcﬁmﬁ
d 7: 9 gl 3ia dic A 3R B &l 3 & d T gRTI?

G




